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pDC->FillSolidRect( r, RGB( 255, 255, 255) ) ;

gbobooboboooouooooonoaobobgboobabooboboboboboan
gooobobobobbooddviswalC++0O 000D ODOO0ODO0DO000oooooooooDD
VisualBasic D00 00000000000 D0OOVisualC++O00000000O00O0DODO
gbobogobobobooobooouoboobobobuoboboobobobobobn
DoddgddbcGetDigitem DO ODOUOOO0OO0OODDOOOOOOOOOOOODDO
goboobobooobooboobobooobooobooobooooboooboooon
UobooobboobboooboobbooboooobbeetbCcOboooooooO
goboobboooboobooepbcboooboogboooooobooooooobe
U cocobboogobooboobobooobooobooobooooooboooon
goboobobooboboooboobobooobobdcrect UO0DOO0O0OOOODOOODO
O0O00000ooDDO0OCO0OO0OOCrect DOOOODDODDOODOO GetClientRect
ggooobbooooooooboooooooobboboooooboobobboooooon
FillSolidRect D D0 OO0 OO DDOOOO0OOO0O00O0DDOOOOOOOD MVisualC++
gbobogboboboooboooouoboobobobuboboobobobobobn
O0O000oO0ooDoDoDoD visvalBasicOOOOOOOOOOOOOOoooooooDOO
gboboooooboboobood

gboboobooobbooboboobbooboooboobbooboaonboo
VisualBasic OO OO OO OOOoOoOoOoOoOOOOOOO0O0O0Ooooooooooooooo
goboobobooobooboobobooobooobooobooooboooboooon
gboboooooboboobood

O0 ViswalC++O OO OOODOOOO0O0OOO0OOO0O00ODOOOOO0DOOoO0OOoOooOoOog
OoOooobobooOOoOoO0OoooobobobooOoOoggvisvalc++O0O0O0O0OOoOooooo
oooooooooooboooooouoooooobobobooboOogy VisualBasic OO
ubobooboboboooboooooboobobobuoboboobobobobobd
ugoboooobboobbooobooobboobobooooboboobobooon

gobooobooobooboooboooboboobobooobooobooboog
gooobgog



ugoo 20

ot toobobtoobobobuooboobod

ubobobobobobooboobooooobooaoboobobobobooboon
gboboobobobooobooouoboobobobuoboboobobobobobn
gobooboboooboobooobobooobooobooobooooooboooon
gboboobobobooobooouoboobobobuoboboobobobobobn
OVisvalC++O0 OO OODODOOODOOO0OODOOOOO

gboboboooobobobooobobo

/MOooooooDooon
void KyoriKeisann()

{
int ij;

double r,s,t;

t=0;

for (i=0; i<2; i++)

for (j=i; j<i+2; j++)

{
r+= (Al]-I0D*(ALI-I0);
s *= (ADI-J0D);

}

t += sqrt(r+s);

}
distance=(t+(1-AA)*sqrt(A[2]-A[0])+(1-JJ)*sqrt(I[2]-I[0]))/sqrt(3);

}
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void Membership()

{

int  ijk;
double r=0,s1=1,s2=1;

for(i=0;i<RuleN;i++)

{
juli]=0;

for(i=0;i<RuleN;i++) O



ooo 2
{
for(j=0;j<RuleN;j++)
{
if(j!=i)
{
s1=s1*DA[j];
}
}
for(j=0;j<RuleN;j++)
{
for(k=0;k<RuleN;k++)
{
if(k!=j)
{
s2=s2*DA[K];
}
}
r+=s2;
s2=1;
}
Kq[i]=sl/r;
s1=1;
r=0;
}

for(i:O;i<RU|eN;i++)

{

rl +=(Kq[i]*KoukenB[ i * 4 );

r2 +=(Kq[i]*KoukenB[i * 4 + 1]);

r3 +=(Kq[i]*KoukenB[i * 4 + 2 ]);

r4 +=(Kq[i]*( KoukenBl[[i*4 + 1]-KoukenB[i*4] ]);
r5 +=(Kq[i]*( KoukenB[i*4+1]-KoukenB[i*4+2]));
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for(i=0;i<RuleN;i++) O
{
ju[i]+=KoukenB[i*4];
ju[i]+=KoukenB]Ji*4+1];
ju[i]+=KoukenB]Ji*4+2];
}
for(i=0;i<RuleN;i++)

{
Juushin +=(Kq[i]*juli]);

}

Juushin=Juushin/3;
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